Name: Date: Per:
Determine the Slope of a Line Determine the Equation of a Line

QUOTABLE PUZZLES— Slope and equations of lines

Directions: 1. Find the slope for the following problems. 2. Match that answer to the
correct letter of the alphabet. 3. Enter that letter of the alphabet on the blank
corresponding to the problem number. 4. Write the equation of the line in point-slope
form and then convert to slope intercept form.
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1. Find the slope
8. (2,7), (-5,5)
1' ('2a 2)’ (35 '3)

9. (-4,-6), (-4, -8)
2. (-5,4), (-1,11)

10. (8, 3), (2,5)
3. (-2,-8), (1,4)

11.(5,-2), (9,-2)
4. (18, -4), (6, -10)

12. (-3, 6), (-8,4)
5.(3,4), “4,6)

13.(4,2), (-5,3)
6. 3,6), 4,4

7. (4,-5), (11,-1) 14. (6, 10), (3, 1)



4. Write the equation in point-slope form and convert to slope intercept form
1. (-2,2), (3,-3) 4. (18, -4), (6, -10)

2. (-5,4), (-1,11) 5. (3,4), 4,06)

3. (-2,-8), (1,4) 6. 3,6), 4, 4)



10. (8, 3), (2,5)
7. 4,-5), (11,-1)

8. (2,7), (-5,5) 11. (5, -2), (9,-2)

9. (-4,-6), (-4,-8) 12.(-3,6), (-8,4)



1
13. (4, 2), (-5,3) 14.(6, 10), (3, 1)



Name: Date: Per:

Independent Practice— Slope and Equations of lines

Read and solve.

1. What is the slope of the line represented

o) 2. Which describes the slope of the line that
byy= 3 X + 47 passes through (-7, 3) and (8, 5)?
A. 3 A. Positive
2 B. Negative
B. 2 C. Zero
3 D. Undefined
2

o A
o W

5. What is the slope of the line containing
3. What is the slope of the line that (-3,-1)and (1, -2) ?
contains (4, -1) and (3, 3)?

A. 4 1
1 B. -—
B 14
1 C. —
C. -= 4
4 D. 4
D. 2
4. What is the slope of the line 3x + y =57 6. What is the slope of the line 3x — 6y = 15?
A 3 A. -9
B. L B. L
3 2
C. - L C. 1
3 2
3 2

7. What is the slope of the line x = -3?

A. -3

B. 0

C. Undefined
D. 3
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Which line on the graph has undefined
slope?
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Which line on the graph has an
undefined slope?
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Exercise 2

(answers on page 41)

Find the number that belongs in the space by building or reducing equivalent

fractions.

1

1) 2 -__
)210

2) I 3) .
3 15 6 12
5) 2o 6) 5_
5 20 721
6 8
g8) °-_ S __
) 573 ) 1075
1) 2 - 12) L -
30 6 14 2
14y 7 __ 1510 __
42 6 15 3
17)1=— 18)Q:_
3 24 22 11
20) ¥ - _ 21) 10 __
51 3 30 3
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